FRK U L DER

P DB (T 6 F4 A 1 HRE)

FHIGRE
EEEREE ST AT E ——
R B 1 B ISERES i | el LD
S BEE N LD BN BEER
o 9
(RIET "
o 32
o 1
g 1
BT 1
5 131
ST BEOEXEEREDES| 1% 11.0 [=% HEETH
TIEE. REVEOHE o 10
(RIET 10
- 1
(RERET W
o 2
g 2
BNEEIRET 5
g 195
3k | FERUEEORRE 530| 29.9 |E&E 335(F&FHR
BE 175
5 (@) "
®E (8) 6
£t 530
L [ FEOREORE 552l 31T [RE | RER
REFEFE 25
BRI 5 —FE :
mRY—EXtVY—FRE 1
Bty 5—FE 2
AREEE 4
FE 398
TRty Y &R (B) 1
DELY S —FE () ’
WERRELFE (7) ’
RILEREEEFAE (B) 1
TRWECDUAIEFRE (8B) 1
RABDEEDHAR—YIN—VEE 1
AREEE (B) 5
I (@) 15
£t 552
ST [ FROREREOTE 252 152 [RERE S RERER
=E 8
EBERE 3
T 5 —BIFE 13
BEEL Y 9 —RE :
gyt —mFE 2
BRNEERETRE 1
WEMAEGHBEEERAE 1
EEERTY 5 —FE 1
REFE 2
P IERBYEERERML 1
b\ RAEIREE 1
R BRI 1
LHEEEE 1
EALEEES 1
=HERE 2
RS 1
TETE 83
TARE 3
H 252




FRKR UG LORE s nBER(Si6 F4 A 1 HRE)

TTHBEERIER
FRRIEERERICHET D 55t AER . kG
ik ERmuE ey PSENCA) [ o | Ml EORIE
6k |ATDERDIETE 69 3.9 [BE LEBERER
THEYY—FRE 14
BEReELEVY—FIE 1
BRBEREME 1
Wath A HETSEESEE 1
ErEREEERER 1
hRAREE 1
hRHEER 1
EfifER 1
e 6
B 69
7 | EFOERRE DB 28] 1.6 [BRRE 23| ERIRERR
ERBE 3
BREBREAE 1
D X H#EEEES 1
B 28
8k |ATDEREDIGEFE 18] 1.0 [ZFE 14| B EHR
AEHEEE 1
i 1
BREEBEE 1
REEFTIESE 1
B 18
a5t 1,775[ 100.0
Bl _E D ERPE & & DI E R VBREIS
T £ D ERPE (AN) T (%)
E=37 326] 18.4
B 530 29.9
REm 552 31.1
FEMER 252 14.2
FER 69] 3.9
R AR 28] 1.6
BER 18] 1.0
A5t 1,775[ 100.0

X IREAEDRR L. BRES

BEHM00% E—HBLBWEEDRHD KT,




FiRE USRI EDRECEDBER (LN 6F 48 1 HRHE)

ERIORE
EEEREE RS &5 E \mm
ik St o 13 SIS USRS 2 | LR
T [EETOREORE o 0.0 [BEER0 q
: q
S [ERTOREREOHE o 00 [SEER 0
: 0
3% (BRTOEEORE o 00 [BEEET 0
: 0
i EETOTEORE 111000 [RETE ERTER
: 1
&5t 11 100.0
Bl D ERRE = & RS B AR DHBREIS
T L 0 A 00 T %)
BREMR 0 0.0
BERER o 00
ZER o 00
ERFER 117000
&5t 11 100.0




FiRE USRI EDRECEDBER (LN 6F 48 1 HRHE)

R BN
EEEREE | & E ———
iR B b 1 B B ISEECA) BE ] el EDRIE
TR REERUSEEORE o 0.0 [BE=5T q
= 0
SR BEORE RS oREE | 0| 0.0 |[ZSZ50
PEE T B REBRUSER
D
= q
SE [T BEOREEOCECHE | 1221000 (&5t RESEER
2 EOERENE S T B BT 15
S8 DR O TAGTEEE 7
3 BEONEI 2 2 FS LHERE :
L5 D1 BB TGS 1
TAMBE "
FEs 4l
g5t (8) 2
T (@) 4
TAHLEEE (F) 1
IHERE () 1
TGS (B) 3
TABES (B) 2
FEE (7) 5
mEE (B) "
5 122
=t 1221 100.0




F R Ul LD B

fECEDIER (T 6F 48 1 HERAE)
BEEHMEERHR ELH—RBOTHMEEDRAFCRET SRS 255 118)

a5

PER

=ta 2 % 09T 0 TES N Bg Il L oD ER B
1 SR |BEDEFNABHEREEES 0] 0.0 [EuERL 0
IRENZFDHHREREER
UTEBICRKET D58
0
2 58 [SEDEMNRAEERES 0] 0.0 [EuERL 0
IRDENZFDHHREREER
LU THERERICRET 215
0
35 [SENEMNARAEERES 0] 0.0 [EuERL 0
IRENFDHNHREREER
U THICREREIFCRET
355
0
4 SR B ICESEDEMM AR MR EE 0] 0.0 [ELERL 0
BT DIENZONHRERE
SER U TS ICHREE AR EFEICHE
ey )
0
5 S48 13 C S E D EPIR R AR ER 0] 0.0 [EuERL 0
BT DIENZTORNHIRERE
STEALU THEICHHM ORI TE
ERLOICREITIHEE
0
6 S|y TEEDOEFIRNRAEE 0] 0.0 [EuERL 0
BYIEBNHBREEITIE
W Z DHHRER X (BN
RZFAU THICHER 2T
TEERHDICKEITDHE
0
7 S8 |1 TSEDEPIB R AR 0] 0.0 [EuERL 0
BYIIEBNHBREEITIE
Y Z DREIRER SBT3
RZEAUTHICHERET
THICEERLDICRETS
ma 0
a5t 0 0%




FiRE USRI EDRECEDBER (LN 6F 48 1 HRHE)

WEmRE
EEEREE RS &5 E \mm
ik St o 13 SIS USRS 2 | LR
> [EEEE0OBE 30,7 [lEExE EEIER
: 3
B R BEONBEERALEL T3¢ [e8z= EEIER
T HIEETE QRS
: 1
3% [ BEZESERS0EER | i 0.0 |[EEEE BEERER
e T BmTE :
2 BB OB (LR
BB E T HISETEORE
=t 14
LT [REEESEREONE. | 10| BT |EE SBER
RERUBEDBIE WETE LY 5 —FE :
AeNEEErYY—FE| 1
T8 5
TE mER
T
&5t 281 100.0

Hih_E DERRE & & DB B R UBREIS

il L DERBE (A) | (%)
EEEXER 4 14.3
AR 14{ 50.0
AR 9[ 32.1
EORERR of 0.0
R 11 3.6

a&t 28] 100.0




